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Question Bank

B.Com Part- 1 (Honours) Paper- 2 Group D
Subject: Principles of Business Finance
University Department of Commerce
And Management
B.R.A.B.U, Muzaffarpur

Multiple choice Question - ( Tgfd®dT =)

The money invested in land, building and plant is called: (f%, we=, "= anfe & &9 AT ST 8 99 F
PHEd 7)) —

a) working capital b) Short term capital
(Priefier Toft ) (SreTepTeiT gof)

C) Fixed capital d) None of the above
(vt i) (e ¥ B1g )

Trade credit is the source of : (@UR o7 &7 3i1d 2:)
a) Long-term finance (Srea@ifera fa<) b) Medium-term finance (Fem @fr & faw)
c) Short-term finance (srewmifers fa<) d) None of the above W # | 313 E))

The objectives of the constitution of SEBI are : (& & o7 & 32T &)

a) Protection of investor interests b) Regulation of securities

(Fraere feeii 1 grem) (afergforal @1 fafrme)
C) None of two (& & & &5 %)) d) Both of above (Swra <)
Short-term funds are required to meet...... needs. (.. STERAl BT R B B oIy TedTdhlierd T o
JMITIHAT Bl B)
a) Transactional  (eF—<= Hqe) b) Opportunity (s/@wR)
c) Contigency CIEZRSE)) d) All of the above (SwRIa W)
Long-term funds are required to meet ........... (co.... DT G & & foy Sefamrfeors e @ srawgamar gt
g1)
a) cost of fixed assets b) Replacement cost

(orarer el @1 orTa) CIEIEERSITS)
C) cost of diversifying business activities d) All the above

(fafaer eremfaes fafafr @ <) (SR a+H)

Long-term period covers a period exceeding . (cidt sm@fyr @ ey # ¥ &% srafy wfie 2 1)

a) 3 months (= 7E) b) 6 months (©: )
c) 9 months (1 7E) d) 12 months (RE AEM)
Funds are received by the enterprise from ........ (ST BT ......... | o7y fHar S 2)

a) Funds from operation b) Issue of shares

GECERECR)! (ERRY @7 i)
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C) Sale of fixed assets d) All the above

(areret Hufeqal &1 fasp) (SR )
The constituents of organized capital market are .......... (HfST goll 99IR & TTH ... )
a) Financing institutions b) Commercial banks
(i &=err) (@i d)
C) Stock Market d) All the above
(i AHe) (SURTET )
creates liquidity. (........... TREAAT G 2 1)
a) Organised market (HTfed IoTR) b) Disorganised Market (e@Red doR)
c) Primary Market (Ireifid 99TR) d) Secondary Market (fgciae IoTR)

A single, overall cost of capital is often used to evaluate projects because: (gSil @1 U Tebel, FHY NI BT SUAN
R URATTISN &1 Hedid o= & forg fhar Srar & )

a) It avoids the problem of computing the required rate of return for each investment proposal.
b) It is the only way to measure a firm's required return.

c) It acknowledges that most new investment projects have about the same degree of risk.

d) It acknowledges that most new investment projects offer about the same expected return.

The weighted average cost of capital for a firm is the:

a) Discount rate which the firm should apply to all of the projects it undertakes.

b) Rate of return a firm must earn o its existing assets to maintain the current value of its stock.
c) Coupon rate the firm should expect to pray on its next bond issue.

d) Maximum rate which the firm should require on any projects it undertakes.

Peter's Audio shop has a cost of dept of 7%, a cost of equity of 11%, and a cost of preferred stock of 8%. The firm
has 104,000 shares of common stock outstanding at a market price of $20 a share. There are 40,000 shares of
preferred stock outstanding at a market price $34 a share. The bond issue has a total face value of $500,000 and sells
at 102% of face value. The tax rate is 34 %. What is the weighted average cost of capital for Peter's Audio Shop ?

([@rex &1 SfffSr 2ty & faurT o arTd 7 ufaera sfaady &1 g 11 gfaerg 3R odieT Wi &1 T 8 ufererd 2|
FHUAT 20 SR U WR & IR oI W IHMET AFTI ITIdh S 104,000 TR B | H 40,000 IR & IR oI ©34 UfT
YRR W THRT YHAIGT TP | 4~ 33 BT B 3ifdd o ® 500,000 & 3R [IhaT & Afbd Joa & 102 Ul wR |
TR P T 34 UfErT B | Wex @) SHfSA wifu & forg goft @ wiRa o anTa @ ® 1)

a) 6.14 % b) 6.54 %
C) 8.60 % d) 9.14 %
A firm with high operation leverage is characterized by while one with high financial leverage is
characterized by . (S=a uRare™ Swe arell Tdh ®H @l faever BT § afe Sea fawia
Iclie drell BH B 7)
a) low fixed cost of production; low fixed financial costs
(Scares @ 9 FRTd ara: &9 Aled fawiha arm)
b) high variable cost of production ; high variable financial costs
(ST @7 Sod YR ANTa: Sod URaa+id fawig am)
C) high fixed costs of production ; high fixed financial costs

(IR BT I=4)
d) low costs of production ; high fixed financial costs (ST & HH AN, Iea i foxi o)
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Which one of the following statement is correct concerning the weighted average cost of capital (WACC) ? ()

a) The WACC may decrease as a firm's debt-equity ratio increases.

b) A firm's WACC will decrease as the corporate tax rate decreases.

C) Both A and B

d) The WACC will remain constant unless a firm retires some of its debt.

Flotation costs should: (<a=eiierar arTa arfaw)

a) Be ignored when analyzing a project because flotation costs are not an actual cost of the project.

b) Be averaged over the life of the project thereby reducing the cash flows for each year of the project.
C) Only be considered when two projects have the same net present value.

d) Be included in the initial cost of a project before the net present value of the project is computed.

In calculating the proportional amount of equity financing employed by a firm, we should Use:

a) The common stock equity account on the firm's balance sheet.

b) The sum of common stock and preferred stock on the balance sheet.

) The book value of the firm.

d) The current market price per share of common stock times the number of shares outstanding.

To compute the required rate of return for equity in a company using the CAPM, it is necessary to know all of the
following EXCEPT: (fIqdivd &1 SUANT &1 drell du+ # 3fdad) & forg amavas Rest @) v &) 0T a”d &

forg, Y @1 ST @avass ® | HfaRad @1 sreax)

a) The risk-free rate. b) The beta for the firm
(SReH g <) @H & forg dier)

c) The earnings for the next time period d) The market return expected for the time
@rTell I srafy & forw FHTE) g & forg amuferd aroTR aros)

In calculating the costs of the individual components of a firm's financing, the corporate tax rate is important to
which of the following component cost formulas ? (T& % & fITANoT & folY SR T—TeRT TeHl &I AT &I TOMET
#H, BURE BR P! X AsdYUl & [T=Rad # & B9 AT gedh ArTd G3° )

a) Common Stock (AT i) b) Debt. (=)

c) Preferred Stock (oRidIeT i) d) None of the above (SWRIad & | ®IS T8)

The term "capital structure” refers to : (38 “YoiTd FRAT" Bl HEHHd HaT 7))

a) Long-term debt, preferred stock, and common stock equity
(@re@Tferds T, TR Wid, IR AWM= Wid 3fdac))

b) Current assets and current liabilities c) Total assets minus liabilities
(acaT Hufed &R adAE qeeTRan) (@t Hufed ger qarian)

d) Shareholder's equity (ERReleeR gfdac))
A critical assumption of the net operating income (NOI) approach to valuation is:
a) That debt and equity levels remain unchanged. b) That dividends increase at constant rate.

C) That ko remains constant regardless of changes in leverage.
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d) That interest expense and taxes are included in the calculation.

The traditional approach towards the valuation of company assumes :

a) That the overall capitalization rate holds constant with changes in financial leverage.
b) That there is an optimum capital structure.

C) The total risk is not altered by changes in the capital structure.

d) That markets are perfect.

Two firms that are virtually indentical expect for their capital structure are selling in the markets at different values.
According to M&M.

a) One will be at greater risk of bankruptcy.

b) The firm with greater financial leverage will have the higher value.

C) This proves that markets cannot be efficient.

d) This will not continue because arbitrage will eventually cause the firms to sell at the same value.

Which of the following is a series of constant cash flows that occur at the end of each period for some fixed number
of periods. (F=fRad # § PN FRAX TH! Ja€ &I Th G © Sl IAd @ & 3id # fhdl Fiaa dwen
% forg 8Kl 2 safda )

a) Ordinary annuity (ATemRer arfiar) b) Annuity Due (@f¥&r <)
C) Perpetuity d) None of the given options
NIECE)] (fag Ty fawedl 7 | I e )

During the accounting period, sales revenue is Rs. 25,000 and accounts receivable increases by Rs. 8,000. What will
be the amount of cash received from customers for the period? (eI 3rafr & SR, 49 o HUY B | 25,000 3fR
T @ § 5 8,000 T EAITP)

a) Rs. 33,000 (% 33,000) b) Rs. 25,000 (% 25,000)

c) Rs. 17,000 (% 17,000) d) Rs. 8,000 (% 8,000)

The conflict o interest between stockholders and management is known as: (Ef@gieed iR yded & 99 fRal &
THIG B ©T H ST ST 2 )

a) Agency problem (TSR FHRM) b) Interest conflict (smoT o)
c) Management conflict (e er) d) Agency cost  (Toifl aTrTe)

which of the following form of business organization is least regulated ? (T e &1 44 # B ©T HH A
%4 fafrafaa 2?)

a) Sole-proprietorship (Y@er—waTa) b) General Partnership (Fm™=I wRfIER))
c) Limited Partnership (@fAa wrfiar) d) Corporation ()

Which of the following ratios are intended to address the firm's financial leverage ? (Fr=foiRad % & @19 &1 U
B B AT Sl B AT da & forg aifma 27)

a) Liquidity Ratios b) Long-term Solvency Ratios
CRIBICEECIN)) (@i A=l 3TuTa)

C) Asset Management Ratios d) Profitability Ratios
(afRafcer rer srgara)

Balance Sheet is based upon which of the following formula? (defa ¥fic f=faRad # & fFd g3 R mRa &?)
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a) Assets=L.iabilities — Stockholder's equity b) Assets= Liabilities — Stockholder's equity

(Hof=Cadi—leuR® & gfdac) (HUfal = STAN—RIHIRS &I )

C) Assets+Stockholder's equity = Liabilities d) Assets= Liabilities + Stockholder's equity
(AU PYRS &1 gfdadi=<aarn) (AUR=<Id+-RIRS B gfaa))

Quick Ratio is also known as : (@RT U & w4 H 1 ST €T 29

a) Current Ratio (<1 31dTa) b) Acid-test Ratio (TRIe—uieor 3uTd)

c) Cash Ratio GELEEELIN) d) None of the given option (&7 # & ®I$ &)

Which of the following is a special case of annuity, where the stream of cash flows continues forever ? (Fr=ferReaa
H A B A1 ¥l w1 UF AR A &, STEl Addl UaTE $I ORI g9 & oy SN & 27)

a) Ordinary Annuity (ATIReT arfiar ) b) Special Annuity (fagry arfir)
c) Annuity Due (@rf¥enr <) d) Perpetuity (2mmsfada)

Which of the following ratios are particularly interesting to short-term creditors? (Fr=faRaa # & & &1 srguTa
JreudIfeld foqRl & fou faviy wu o fae=s 2?)

a) Liquidity Ratios b) Long-term Solvency Ratios
CRIBIEEHLIN)] (@reiarferd el JguTa)

c) Profitability Ratios d) Market Value Ratios
GIEEERIRCREIN: (TSR Heu Srgur)

AST company has a current ratio of 4:3, Current Liabilities reported by the company are Rs. 30,000. What would be
the Net Working Capital for the company ? (TUHET HUI BT IH U 4:3 B, HUAT §RT RUC BT TS5 IAAH
SARIRAT WA & | 30,000 FT BN HU & oY IYg BRI Yoil?)

a) Rs. 40,000 (% 40,0000) b) (-Rs. 40,000) (=% 40,000)

c) Rs. 10,000 (% 10,000) d) (-Rs. 10,000) (=% 10,000)

In which form of Business, owners have limited liability. (@@ & foa wu & il & @ifg @ g 2)
a) sole proprietorship (T&H @TH) b) partnership (ATIERY)

c) joint stock company (Hgad ¥l &) d) none of the above (SWRITd & | ®IS T2)

Which of the following item provides the important function of shielding part of income from taxes? (Fr=feRad #
A B A A BRI A T & R BT g9 BT qS5dYUl BRI TS PRl 87)

a) Inventory (g=ie®) b) Supplies  (@mafh)
c) Machinery (A=) d) Depreciation (qeger)

The process of determining the present value of a payment or a stream of payments that is to be received in the
future is known as: (T & TEHM oI IT YA B IR BT FEIRT BT D1 Ufshar {59 ured fbar S & wias
@ BT H ST S 2 )

a) Discounting (Rewprsfem) b) Compounding (HursfEm)
c) Factorization (haesTgorer) d) None of the given options. T & ®Ig =)

You need Rs. 10,000 to buy a new television. If you have Rs. 6,000 to invest at 5 percent (39&T ®UJ ALY | Th
T TAfIS @RIe & ol 10,000 | IfT SMMUDB U 5 6000 5 Ufererd wR a9 &= & forg )

a) Operating efficiency (aRaTer serd) b) Asset use efficiency (aR¥ufcd SUIRT Gerar)

c) Financial policy (fa=fra ffa) d) Dividend policy (emier ffa)
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A company having a current ratio of 1 will have net working capital. (1 @ I U dTell HUAT &

15 A & A ol B8R )
a) Positive (AhRIHSD) b) Negative (FRICHD)
c) zero  (I) d) None of the given options (571 | &g 72

Business Finance addresses which of the following? (eraar fo fR=ferRed # & fod daifea @war 27)

a) Capital budgeting (gsiT H==) b) Capital structure (gsiT =)
C) Working capital management d) All of the given options
(erefefier gofl ) (g 17 @l fase)

. In which type of business, all owners share in gains and losses and all have unlimited liability for all business
debts? ([P TR & g # it #iferd o QiR &1 & R o 2 ik o & o vt sgaamt & forg orfifaa
TIAT BT § F0r?)

a) Sole-proprietorship (&A= @) b) General Partnership (A= ARIER)

c) Limited Partnership (HifAa wrfiar) d) Corporation (F7TH)

Which of the following is measured by retention ratio? (Fr=iforiRad # & ford sraeReT Srgurd gRT AT ST 27)
a) Operating efficiency (aR@Ter™ <erar) b) Asset use efficiency (Fufcd SUaRT Gerar)
c) Financial policy (fa<fra =fifay) d) Dividend policy (emier =fifa)

. How many years will it take to pay off a Rs. 11,000 loan with a Rs. 1,241.08 annual payment and a 5% interest
rate? (T WU P I B H fha A1l ST | 11,000 WO & 0T S A1 | 1,241.08 AP YA 3R 5 Tl
TSl 9197?)

a) 6 years (8: ) b) 12 years (12 ad)
c) 24 years (difew ad) d) 48 years (3Rdrferd Im)

Which one of the following terms refers to the risk arises for bond owners from fluctuating interest rates?
(FrafaRed # 9 @9 A1 9eg 9is Alferdl & fog el &R # SAR—g1d | a1 SIRgA ®I Aafid HRal 27)

a) Fluctuations Risk (SaR—agra SiIRaw) b) Interest Rate Risk (157 &3 SiIfRem)

c) Real-Time Risk ({ae—<rsH SiRkeas) d) Inflation Risk

Which of the following set of ratios relates the market price of the firm's common stock to selected financial
statement items? (FTGRET § | S A1 IIUT BH & AT Widh & IR Jod H FAa O & Gdfia s
g 9U 3msTH?)

a) Liquidity Ratios (IeTfifer arguTa) b) Leverage Ratios (STIa 1uTd)

c) Profitability Ratios (efrgear srgura) d) Market Value Ratios (dT9TR g 31UTd)

If a firm uses cash to purchase inventory, its quick ratio will: (I &I ®H gL WRIG & foly TH< BT SUART
PR 8, Al 3HBT @R U B

a) Increase (gfg) b) Decrease (&)
c) Remain unaffected (3rfae) d) Become zero ([ &)

. Standard Corporation sold fully depreciated equipment for Rs.5,000. This transaction will be reported on the cash
flow statement as a(n): (XSS BIUNIA o YR TRE A HeIB™ SUBRYT 5,000 HW H 99 | I8 ol—ad 7dhe W Ruc
e SIo 98 U (TE) & wU H )
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a) Operating activity (3ffaxfeT wfafaf) b) Investing activity (Fraer wrfafafe)
c) Financing activity (fa<fra wrfafafe) d) None of the given options (8 | ®I3 &)

Which of the following ratios are particularly interesting to short term creditors? (Fr=foiRad % & &9 &1 3rgur
Ay oFeRl @ forg fadly wu & feeay 287)

a) Liquidity Ratios b) Long-term Solvency Ratios
CRIBICEECIG)) (@reirferd Hieddl JguTa)
c) Profitability Ratios (efrworedr 3rqura) d) Market Value Ratios (TSR Heg 37UTa)

Financial policy is evaluated by which of the following? (fa<fiar e &1 Heaie F=foaRad 4 9 fas g1 fBan
ST 87)

a) Profit Margin (a7 #1foT=) b) Total Assets Turnover (G HUf HRER)
c) Loss Margin (g1 #1fSf) d) None of the given options (54 ¥ ®Ig &)

Mr. Y and Mr. Z are planning to share their capital to run a business. They are going to employ which of the
following type of business? (fex a1 3R e SIS U IdHR AT & g U= Goll AT H_eT Bl AT a1
© 2| T FafTa & o € R o frefaRed geR a1 agaara?)

a) Sole-proprietorship (Yoer wrfac) b) Partnership (ATsIeTRY)
C) Corporation (=) d) None of the given options. (9 & ®I3 2

When the market's required rate of return for a particular bond is much less than its coupon rate, the bond is selling
at: (Si9 forell foRiy qfs & oy qroTR @1 savgs Ufiwd &% $H@! HUF &% I 980 $H o, Al dis 99 I8 § W)

a) Premium (féas) b) Discount (&2)
c) Par @1 d) Cannot be determined without more .
information

(@rfrer & famr fFefRa =& fhar S daar 2 )

Which of the following statement is considered as the accountant’s snapshot of firm’s accounting value as of a
particular date? (Fr=IfeRad % & B A1 HAT THISCC & BH & GidT e & U & ®Y § A4 o1 2 Iy
fafer?)

a) Income Statement (3 faa=or) b) Balance Sheet (3o ¥fie)
C) Cash Flow Statement d) Retained Earning Statement
(@91 Tl WeHe) Res AT wedw)

Finance is vital for which of the following business activity (activities)? (foa f=foaRed # & fa araaiis
Tfafafer (rfafafea) & forg Aeaygel ©)

a) Marketing Research (FrafeT Rerd) b) Product Pricing (Scare g fReron)
c) Design of marketing and distribution channels d) All of the given options
(AT 3R fAaRor A=l &1 fSoirsH) (fRg v SwRITT )
The most important item that can be extracted from financial statements is the actual of the firm. (e
Feayol geq RO faxfia faavon & AT S A& 2, 98 BH BT aRAAD o g)
a) Net Working Capital (e af&T dfica) b) Cash Flow (@1 gaTg)
c) Net Present Value (e tsie d)) d) None of the given options (SuRTad T+

A firm has paid out Rs. 150,000 as dividends from its net income of Rs. 250,000. What is the retention ratio for the
firm? (@ % 9 % 150,000 HUI &1 Y& 3T F AT & HY H | 250,000 & foIQ FERYT U FT & §¢7)
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a) 12% (12 yfcrerd) b) 25% (25 wfcrerd)
c) 40% (40 Hforera) d) 60% (60 wfcrerd)

If a firm’s debt ratio is 45%, this means of the firm’s assets are financed by equity financing. (af& &+ = @1
FOT U 45 U 2, A1 9T Adeld © fb BH @ |ufd &1 .. 33! faddmer grr faaifia 2 )

a) 50% (50 fcrerd) b) 55% (55 ufoem)
c) 45% (45 ufoem) d) Cannot be determined withoutmore = ~ * °
information
@1 SR & far fRuiRa 981 favar o
. AT B 1)

Which of the following ratios is NOT from the set of Asset Management Ratios? (Fr=ifeiRaa # & @9 w1 3rgura
HufRT gder IguTd & ¥ | TE 17)

a) Inventory Turnover Ratio b) Receivable Turnover
(gvded TR 3rquTd) (e eeirar )

C) Capital Intensity Ratio d) Return on Assets.
CSINSIESIREGRIS)! (FURT o= aroR)

Which of the following statement about bond ratings is TRUE? (af€ e & ar # fr=ifaiRad § & &9 a1 dee
a 8? )

a) Bond ratings are typically paid for by a company’s bondholders.
(@ ST BT YA AFCAR W U & di~sslesd NI fHAT ST 7 )

b) Bond ratings are based solely on information acquired from sources other than the bond issuer.
(@S ST T TWE | IS SR
C) Bond ratings represent an independent assessment of the credit-worthiness of bonds. (@s ST #Algg o iR

IS Bl ARG BT sl Jodih)
d) None of the given options (faw w7 fdeeai # 7 @Ig 72l

If you plan to save Rs. 5,000 with a bank at an interest rate of 8%, what will be the worth of your amount after 4
years if interest is compounded annually? (@FR 3T W @9 &1 o1 &1 I & | 5,000 §& & AT 8 e @
RS &R W 4, B 18 ID! IR BT I FIT 817 AT R ATSl AT bl ©7)

a) Rs. 5,400 (% 5,400) b) Rs. 5,900 (% 5,900)
c) Rs. 6,600 (% 6,600) d) Rs. 6,802 (% 6,802)
Which of the following statement is TRUE regarding debt? (ot & weaer & f=feilRad 5 0 &9 A1 99 9 &87)

a) Debt is an ownership interest in the firm. (30T %9 # U W@ f2d )

b) Unpaid debt can result in bankruptcy or financial failure. (s 0T & gRvTHRRY fEarferamd a1
fo<irr fawerar & dadh 2 )

c) Debt provides the voting rights to the bondholders.  (FvT Ii€uR®! BT ATIA BT JRTHR YT BT B)
d) Corporation’s payment of interest on debt is fully taxable. (FFT™ gRT 0T R @19 &1 A [ IRE A IR
AT B )

A firm reports total liabilities of Rs. 300,000 and owner’s equity of Rs. 500,000. What would be the total worth of
the firm’s assets? (Ve BH WR PI Bl <IaIRAl B RUIC BT € | 300,000 AR ATfAH BT SfFIST W | 500,000 BT B
qod T BRI A &I [URT ?)

a) Rs. 300,000 (% 300,000) b) Rs. 500,000 (% 500,000)
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c) Rs. 800,000 (% 800,000) d) Rs. 1100,000 (% 1100,000)

Which of the following measure reveals how much profit a company generates with the money shareholders have
invested? (Fr=ifeiRad & | @19 |1 S 9amar ® f6 HU IRRST & 94 A fha= a9 warh § e fsar?)

a) Profit Margin (a7 #1fSi) b) Return on Assets (Fufxt IR ama=d)
c) Return on Equity (Sfdact o= ara=i) d) Debt-Equity Ratio (3rvi—sfdad! srgurd)

If you have Rs. 850 and you plan to save it for 4 years with an interest rate of 10%, what will be the future value of
your savings? (If< 3Mue URT % 850 AR MY SH 10 UL &7 AT &R & AT 4 ATA & oIy g9 &) IS g1
& & 3@ 9l Heu FaT BNY)

a) Rs. 1,000 (% 1,000) b) Rs. 1,244 (™ 1,244)

c) Rs. 1,331 (% 1,331) d) Rs. 1,464 (™ 1,464)

In case of international business which of the given factor(s) must be considered? @RI SMUR & AW # AU
T SRS H ¥ fhd W) =R & s anfze?)

a) Role of foreign exchange b) Balance of payments
(et a1 1 ) (AT Hger)

C) Attitude of Governments d) All of the given options
(FRPTRY BT Y1) (few Ty et faepen)

Which of the following refers to the difference between the sale price and cost of inventory? (Fr=falRad # & @i
T o 3R G 31 ARG & 41 3R PI HaWd HRaT 87)

a) Net loss (e @f<) b) Net worth (e gof)

c) Markup (ATaara) d) Markdown GIEaSISE)

Who of the following make a broader use of accounting information? (Fr=ifeiRed 5 & M oI@id @ &1 AU
STINT BT 27)

a) Accountants (TETPR) b) Financial Analysts (g fagerso)
C) Auditors (T TiETd) d) Marketers (fagoras)

Rule of 72 for finding the number of periods is fairly applicable to which of the following range of discount rates?
(craferal @1 |1 =1 R B Y 72 BT 99 B ST B FEfGRad § 9 4o R IR 9 F AR BT 87)

a) 2% to 8% b) 4% to 25%
c) 5% to 20% d) 10% to 50%

A portion of profits, which a company distributes among its shareholders, is known as: (g% &T Ta 2w, o
Th HUI 30 IRRYRBT & 919 AaRd o=t 8, & B9 § ST o1 8:)

a) Dividends (GISIED) b) Retained Earnings (SR&RR $HHTE)

c) Capital Gain (gSiTa @) d) None of the given options (H & ®Ig 2)
For stock changes, the services of SEBI is (<@ uRads @ forg, d€ @ darg 2)

a) Voluntary (wafeo®) b) Necessary (3maeaa)

c) Unnecessary  (3Taeae) d) Compulsory  (arfvrar)

.......... security is known as variable income security (......... GR&T B TRITHART IR AT & HLT H ST
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a) Debentures SEER)

c) Equity shares  (sfaadt ¥rR)

a) Stock dividend (<f@ e
c) Bond dividend (sis @)

Earlier a debt equity norm of

was generally insisted on by the controller of capital issues.

b) Preference shares (@¥aar IRR)

d) None of these (ETH & ®1$ =7E)

(T BT FaH FE@YOl R A W B...

b) Cash dividend (&g @mren)
d) Scrip's dividend (Rspu &1 <rren)

(TEe

goll e & FRiF® gRT SR R ... P T IS HHES R SR 33T SIar of ()

a) 1:1 (1:1)

c) 2:1 (2:1)

Stock exchange protects the interest of ........

a) Investor  (frererp)

c) Government (R®R)

Financial Management is .............. (o< g@er .........
a) Art (@)

c) Both art and science (e 3R fasma <)

b) 1:2
d) 2:2
b) Company (®U=)

d) None of these (7 & @13 =gl)

b) Science (=)

d) None of these (& & @I§ 2

Which form of market efficiency states that current prices fully reflect the historical sequence of prices ?
(ATSTR QEIdT T BIF AT ©9 o & S Ais@r @i smdl & Yfaefid oged & 98 avg | gl 27)

a) Weak  (@iR)
c) Strong  (w5Tgd)
Early in the history of finances, an important issue was :
a) liquidity (a=er=m)
c) technology (drenfires)

Raising more capital than required denotes situation of
Rerf &1 <wriar 2 1)
a) over-raising

(erferen gfg)

C) over liquidity  (GRerar & 31fer)

b) Semi-strong  (erdf—AsTgq)
d) Flexible CEICD!
(R o iR @) yoad #, UH wEwaqul TR o)

b) capital structure (4t \==r)

d) financing options  (fardioT faeen)

b) excess of capital (gsi &1 arferedr)

d) tangible ()

Basic feature of an ideal financial plan is (v& sl =i Ao @1 9t R 2)

a) simplicity (|=erd)

c) flexibility (ereiremma)

Long-term finance is required for the purchases of
Srefprferd facd @1 smazaedr 81t 2 1)

a) fixed (=f¥=q)

b) rigidity (@R

(qafRiem)
assets. (... wufed @ @ & forg

d) foresight

b) tangible (1)
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c) intangible (3rT) C) variable (aRaca)

Under rigid dividend policy, the rate of dividend is . (@SR @riw NifY & TEd, dMIY B X ... B)
a) 0 (1) b) -1 (~T®)
c) 1 () d) 2 (a0

refers to make up of a firm's capitalization. (... arcad BH @ gollever | B )
a) capital (gsi) b) capital structure (4sit w==r)
c) funds (@s d) None of the above (W & & 315 7El)

Cost of depreciation fund is the (ferer ffr & oma 2)

a) explicitcost (W @rma) b) average cost  (3rId oFT)

C) implicit cost (M@ arma) d) none of the above EwWiad # ¥ &g =E))
Retained earning is ____ a cost free source of capital. (@fcenRa #918 .o Yol &7 U oI g 81 2)
a) not (71E) b) sometimes (@FH—4)

c) compulsorily  (Ear w9 9) d) consistently  (@FTIAR)

The policy concerning quantum of profits to be distributed as dividend is called (emier & w9 # faaRka fag
ST dTel ot @1 /13T Hed I BT Bal S g 1)

a) dividend policy (amrer =ifa) b) distribution policy (faa=or if)
C) share policy — (ErR #if3) d) sale policy (EEIREIN)!

The rate of dividend of preference shares is decided at the time of : @ERHFT IR & @M @ R 9 T
T B AT R )

a) issue  (SY) b) dissolution of company (@u=t @1 faere)
c) payment (7Tdr) d) none of these (T & @13 g)

For calculating the cost of preference shares capital, the dividend of preference share is divided by
and multiplied by 100. (@¥FdT 2R—R Sl @1 AT @1 TOMT & folg, aRIIAT IRR & arier &l farford
fopam e 2. R 100 & IO AT STAT B )

a) net income (g 3Mm) b) net proceeds  (gg M)
C) net sales (gg fam) d) net expenditure (g =)

Investment decision include: (Frer fFoia # e )

a) expansion of existing business b) expansion of new business
(HIS[ET AMUR BT faFR) ([T IR &7 faR)
C) replacement (gfcrermd=) d) All of the above G )

Dividend is the share of profit of company dividend amongst its: (™= ®U & AR & @™ BT {4l 7))
a) shareholder's  (ERRUR® @) b) brokers (geret)

c) debenture holders (fedar e d) None of these (T & @15 =7E)
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Transaction costs include: (eFes @Rt # wf¥et )

a) brokerage (siTapT) b) commission (HHEM)

c) printing (foife) d) All of these & =)

Stock dividend the number equity shares. (&i&® o™i ............ @& SfFadl TR )

a) increases (a) b) decreases (grean)

c) neutralize (J3R) d) Both (a) and (b) (@i T ik )

Maximum bonus ratio is : (If&redd =9 I &)
a) 1:1 (1:1) b) 2:3 (2:3)
c) 3:2 (3:2) d) 3:4 (3:4)

Dividend policy determines the divisions of earnings between payments to shareholders and retained
earnings."This statement was said by :  (@mier it IRRERST BT YTAH AR TN @ S 19 31T & (1o
Pl UIRT SR § BAE | * T8 $AT D gRT BT AT o )

a) Weston (@) b) Gitman Fred=)
c) Brigham (fsrem) d) Both (a) and (b) EHI T 3R <)
The concept of cost of capital can also be explained in terms of cost. (Yo @1 NI @ RO Pl....

. T & A H W AESTT 7 addr © )
a) opportunity cost EEER «FTQ) b) variable cost (TRad-Ta Q)
c) fixed cost (GIEESSRSIEG)! d) capital cost CSINCESING)

The explicit costs (in case of cost of debt capital) are measured by the interest rate only adjusted by the :
(e AR (F0T Yol &1 AN & AWl H) Bl ddel FHRING &Te &% §RT A19T Sl & )

a) tax rate (@R ¥ R) b) profitrate (e <)

c) capital/net worth (gsft / et ) d) None of these (s & &8 =)

Cost of capital from all the sources of funds is called: (%s & w0 5irdl & Yo @ AN ST HaT ST 2)

a) specific cost  (faRre <rm) b) composite cost (FFT FFT)

c) implicit cost  (Ffgd <) d) simple average cost (R fd oTa)
Which is not the technique of capital structure analysis? (g5t wwa= faereryor &1 da-ie w1 T8 2?)

a) Trading on equity (sfaad = ¢fEm) b) Capital gearing (@faca firafdm)

C) Capital budgeting (&fica 2l)) d) Cost of capital (4ot &1 @mTa)

The cost of capital is the minimum rate of return which a firm requires as a condition for undertaking an

investment. " This definition is given by : (457 @1 ARG TR @1 KATH R € I U BH BT Udh IUHH B
@ forv U wd B o N srawe ® e g aRu e grr & E ®:)

a) Solomon Ezra (A= we) b) RM Lynch (eRuH foia)

c) Milton H Spencer (firees Ta wwR) d) None of these (E#H & &g =)
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Which of the following is /are included under causes of undercapitalization? (/= % & @19 &9 YoiieT &
PR H WA g /87)

a) Under estimation of income b) Promotion during deflation
c) Conservative dividend policy d) All of the above
(wfearel amrer +ifa) (SURIaT )

Which factor is / are responsible for overcapitalization? (s1fcr goitexvr & fog -1 /¥ SRS IR
g/

a) High promotion expenses b) Liberal dividend policy
(S=a usI=a <) SERESICINIETIN))
c) Both (a) and (b) EFT T 3ik i) d) None of the above & & ®1E 2)

The equity shareholders are the residual claimants of all earnings left after meeting all prior: (sfa<T
RRURS VT Yd B R PR & dI€ gl gs T4I BATS & IfARIE SUGR o)

a) claims (sm) b) benefits (am™)
C) losses  (F&arm) d) advantageous (eru<)

Patterns of capital structure include: (4sft <=1 & Uei 4 wnfdet &)

a) Only equity shares b) Equity shares + Preference shares
CEEINEECINEN) (e IRR+-adRIaT IRR)

C) Equity shares + Debentures d) All of the above
A TR+ ER) (SWiad a+)

The main reasons for adjustments in capital structures include: (@GS w==ml & e # WA )

a) to reduce the cost burden b) to capitalize the retained earnings
(ST G1ST BT HH B B forg) @EfenRa oma @1 gollgd & & for)
C) to simplify the capital structure d) All of the above
(GSTT ERET BT AT B & folg) (SR )

Capital structure denotes the : (g5l |==mT T2 &)
a) capital mix CSIREEN)! b) financing mix  (facdror fysyo)

c) equity mix (sfFady fsron) d) None of these (57 & ®1g =)

Interest rate risk is a type of ; (&< &= FRIA T TSR &I BT 2
a) credit risk (FEoT SIRgH) b) market risk (aTR SiTRa#)
C) operational risk (aR=rer SRaH) d) All of these (& @)

"Dividend policy determines the division of earnings between payments to shareholders and retained
earnings" Who said this? (* @mrer S TRRERST B A R I91¢ @9 & 419 3 & fJrer &1 FeiRa
R & HAS U8 b HeI?)

a) Weston and Brigham  (a%e=1 @ik faem) b) Gerstenberg  ((R&E)
c) Bonneville (@mifaer) d) None of these (&7 & ®Ig &)

Net interest income is: (Jg =T A &)
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a) Interest earned on advances @fim ) a1fvia =)
b) interest earned on investment (I W IRTT =)
c) total interest earned on advance and investment (1M 3R e W sifvia o «19)

d) difference between interest earned and interest paid (@i =&ret &R Y fdy 1T = & 9
BT 3R)

The concepts of cost of capital is/are very important from which point of view? (gsit @1 @rTd &1 sreenRomny

fore gfedior & 9gad weayt & /)

a) Capital expenditure decisions b) Capital structure decisions
(GoiRTa = foyot) (gt ER==T i)
c) Bothe (a) and (b) (S T aiR i) d) None of the above W # ¥ w1 7E))

The dividend paid on preference share is not deductible expenditure for:. (RR@AT ¥R R 1A= fHAm T7
e e @ fofg ekl arg &y el & )

a) income tax (@maeR) b) corporate tax  (@fulie)
C) gift tax (SUBR &R) d) property tax  (|UfRT @R)
Cost of capital does not mean : (g5 @1 WA &1 Adeld I8 T8l &)

a) cut off rate decided by management (GEEE §RT T @1 T8 e 3 <)

b) rate of interest (&9 <)

c) expectations of investors for dividend  (amer & forg fderat @t S=I<)

d) money paid to SEBI for permission to acquire capital. (qsil aifSia &= @1 agAfa & forg |aT &l
AT fbar T =)

Capital structure designing has nothing to do with: (IS g ST &1 T899 BIS A—aT 78l 2)
a) profitability — (amvy=an) b) solvency (o)
c) flexibility GEISIES) d) transferability (gwdiaxefigan)

Capital Structure represents: (4ot w=mT g@ich &)

a) ratio between different forms of capital b) all liabilities
(o @ fafrT wuf & drar srgura) (@Y <TarfRan)
c) all assets (1 Hufr) d) assets and liabilities (wufe sfiR <=aTRA)

MM theory in perfect market suggests that dividend payment: (Roae #rde # wagd fRigia aand g f& amie
YTT:)

a) has a positive impact on the value of a firm T BH & oI TR FHRIHS Y9Td TSdl ©)
b) has no impact on the value of a firm (B9 & Hea W P JHE TE UL B)

C) has a negative impact on the value of a firm (& W FeHRES U@ T ©)

d) has negligible impact on the firm (% W o7 yvg gear 2)

Which of the following is not used to estimate cost of equity capital ? (¢St il &1 ARTT BT FFAF ST
& forv fmfaRad # & fdaT SuarT =&t fvar Sirar 27)

a) external yield criterion b) Dividend plus growth rate
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(@ SUS ATGS) (@M @ e <))

C) Equity capitalization approach d) Capital asset pricing model

(A=t gofiaor gfteamion) (gt gREufed Hea FeRer Hiea)
Over capitalization may not be as a result of which one of the following? (sreR Sftcarsoree FA=faRad
3 fras aRvmmasy T8l 81 J&ar 87)

a) Promotion of a company with inflated assets b) Application of low capitalization rate
(@< g5 HUfT arell HUA BT U9R) (@F YolioT T P SYATT)

C) Shortage of capital d) Liberal dividend policy
(GSiT @1 ) CERESICINAEIT))

According to which of the following, the firm's market value is not affected by capital structure?
(Frafafad # & 59 IR, BH &7 IR Hed Yol e & gaifad gl g 27)

a) MM Hypothesis (gaga gReed) b) Net income Approach (gg 3ma gficaon)
C) The Traditional View (aRuRa& gftcaion) d) None of the above G & 9 B &)

Assertion (A) Credit rating is an assessment of the probability of default on payment of interest and
principle on a dept instrument. E®A () Hise ST AT & WTAH R &b B FAGAT BT MMHA & AR Th
T AR R RIgla | FROT (31R) (ST e @1 o e ol o & forg ue sifiRed g99e ue™ &l &
PIH)

Reason (R) Rating provides an additional input to the investor to make his investment decision. Codes

a) Both A and R are true and R is the correct explanation of A (¢ 3R 3R Sl W& B, 3R 3R, T &I
L ARAT BT B)

b) Both A and R are true, but R is not the correct explanation of A (T 3R 3R Sl W& €, afd IR, T
B AL ARAT TE BRAT B)

c) Aistrue, but R is false (@ =@ 2, @fd IR 3aT ?)

d) Ais false, but R is true. (@ s[aT &, <Ifd IR |9 7 )

List down the acts to be done for the merger and acquisitions in the sequence of start to end. (=% ¥ 3fd
TP & A H [Jeg 3R Ao & oy by S arel Bl &1 gl a9 |)

a) Approval of Board of Directors b) Sanction of the High Court
(Fraere st &1 JrgHre) (S=a IR B o))

C) Permission of Merger d) Transfer of assets and liabilities
(forera b1 argHfa) (ufed 3ik <Rl gwqiaRon)

Stock exchange deals with the: (e o= fhas amer diaT $HRT )

a) second hand securities b) issue of preference shares
SEERSERRER IR CRECIINPREC ;)]

C) issue of equity shares d) issue of debentures
G TR IR B (fedaR SR &)

Rate of dividend on which share is/are fixed? (emer & <= fra IR R a8 /87)
a) preference (a¥rzar) b) Equity (sfaac)

C) Both (a) and (b) (& T iR ) d) None of these (& & @15 2

The first stock exchange of India was established in : (RT &1 ygalr ¥l TaaesT wTfud fdHar T3 o)
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a) Delhi (&) b) Mumbai (=)
C) Calcutta (@era<) d) Madras GEIR))

Private sector mutual funds were permitted in India in the year. (@ % wRa % o &3 & Rgerd ®el &l
rgAfer & T ot )

a) 1964  (1964) b) 1993  (1993)
C) 1992  (1992) d) None of these (&7 & @15 =&l)

Which of the following speculators expects the price of securities to fall in the near future? (FferRaa #
A P A Fecad Mde wiaw #§ gfdy el &1 dma R &1 IWie #=ar 27)

a) Bull @) b) Bear (q)
c) Stag  (&Rw) d) None of these (& A ®I$ &)

Dealings in stock exchange in India are regulated by : (WRa # i vaa=ial # oied g1 RGBT fawar Sman
)

a) Indian Companies Act b) Securities Contracts Act
(TR B i) (fergfar srgaer srferferr)

C) Stock Exchange Act (¥fa waaeiar ifdrfrm) d) None of the above EWRITT & & &5 =)

The First Mutual Fund Scheme in India was introduced by : (WRT # Ugell R[gare B Aol [Fdd gRT YH
@1 g o)

a) Government of India  (RT TR&R) b) Reserve Bank of India (=i Rord da)
c) Unit Trust of India (Iffe g sifw gfeam) d) State Bank of India (<e §& =ifw gfsan)
New issue Market is an integral part of : (| 537 #ac &1 & 31— 3T )

a) stock exchange (Efe vaws) b) capital Market (4sit aToIR)

C) Both (a) and (b) @I T 3R ) d) None of these (& & @15 2

The Kumar Mangalam Birla Committee was constituted by : (fAR e fasar |fdfa &1 o7 feas gr
febam v o)

a) SEBI b) Ministry of company affairs
GSED) (@I ATHAT B HATA)

C) Department of company affairs d) Controller of Capital Issues
(@t ATl @ o) (TN F&T & Fri=)

As regards disclosure under item ‘General Shareholder Information’ rating of which organisation shall be

indicated in the corporate governance report. (g \WMRI IWRYRS Gl & AT UG & Aael H fhd
e &Y ST ERY? BRURE Taw Ruié § geriar ar 71)

a) ICRA  (3¥iiamRe) b) CRISIL (feTRamgTeiansgye)
c) CARE (&) d) SMERA (&R1)

The term material unlisted Indian Subsidiary means an unlisted subsidiary incorporated in : (&rft
G R FERID BT 3 © VS Jgaidg Feid HuAl forad et &)

a) Incorporation is not required b) us
(FrTaeT @) smavgaar w1E) (Fus)
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c) Europe () d) India (¥WrRa)

Some equity schemes take opposite positions in different market segments, such that a return is earned
while remaining risk neutral, They are called: (§& sfFd! o faf= iR @l 4 fGuRa Refy okl €, o9
& Ret aifSia fram Srar @ SiRew dever &4 gU, S del Il )

a) Positional Funds @fReee ws) b) Arbitrage Funds (nfigs ®s)
C) Directional Funds (SrRaeMe %e) d) Speculative Funds (dcer we)
Riskiness of investing in ............. Is more than the riskiness of investing in. (............. # e & @

SReH | # e BR B SRkeH 4 Sfded g )

a) debentures, equity shares b) equity shares, debentures
(fSd=r, gfdact TmR) Efaadt IRR, f$d=R)
c) Both (a) and (b) @i T ik ) d) None of the above (Swrad # & &3 7E))

who is an intermediary defined under the SEBI Act? (¥t s & dgd aR¥Ifia wesrer oA 27)

a) Hedge fund @S ®s) b) Trustee of a trust deed (g% S8 & g<)
c) Sovereign fund (HfexT ®s) d) Private equity (s gfaa<)

............ schemes are seen as riskier than ............. Schemes. (... AT B ........ BN To=T § SR
HRT AT ST 2 )

a) Debt, equity (1, sfdad) b) Equity, debt  (gfaadl, =)

C) Both (a) and (b) @i T 3iR ) d) None of these (g7 9§ @15 75

If in a year, the company does not have adequate profits, the dividend will not be payable in the case of
which shares? (@ e af & , S &I vaf o =& ST |, o AT <7 T8 8N B AT IRR?)

a) Non-cumulative preference b) Cumulative preference
(R—e <) (el )
c) Both (a) and (b) (@i T iRk ) d) None of the above (S # & 15 )

In market parlance, when an investor offers his units for sale to the scheme, he is said to offer his units for
(@TSTR T 9191 H, 519 BIs Ied Ao & T 1o shigdl &f fas! & forg Uer &=ar 2, 1 bl ol © & a8
AU SHIZAT BT 3HSD Tl UHY FR )

a) de-purchase  (S-w=r) b) pre-purchase (tfi—u<ar)
c) post-purchase  (ARe—d==roT) d) re-purchase (i—w=r)
In a mutual fund, the trust acts through ........... , who are appointed by the sponser. (v R=garal ®vs #

T & AT W F el 7, e wraee gR1 Rgad fear S 2)
a) lawyers (@@®e) b) investors GENED!
C) trustees (&) d) auditors (eraT gRieTds)

......... capital investors are long-term investors who are prepared to take the risk that the entrepreneurial
project can fail. (... ISl Fdere @dl Jafd & Fiaere € S SIiad o & foy AR & b Sl uRArer fawd
&1 Hehell 2 )

a) Mega () b) Progress (o)
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C) Multiple (THIferD) d) Venture (STM)
The top of the economic boom cycle is called as : (& SeTa g% & Y FI HeT AT ©7)
a) Peak (d®) b) Trough (%)

c) Zenith (Sifser) d) Precipe (oifRrm)

Ups and downs of the stock markets are due to what views among market participants? ErRR I<IRI @&
IAR—TSME IR FedTidl & 19 fa Rt & &R €?)

a) Diverse (fafae) b) Common (=)

C) Both (a) and (b) @I T 3R &) d) None of these (T & @15 =72)

Interest rate futures trading in India is available on : (TRA@ # & R IR HFREAR R YA &:)

a) 91 days T-Bills b) 10 years, National Government of India

(01 &7 S-f4@) Security

(10 AT, YRT ARBN FRET)

C) Both (a) and (b) (S T aik ) d) None of the above W # & o1 7E))
Treasury Bills are short-term debt instruments (less than ......... year to maturity) issued at a discount.
(o) fdet T B WR SN f6y 7Y srcudifers FoT e (RYTTTT a8 | &H ... I q FH) 7 )
a) 2 G) b) 3 (cfr)
c) 4 (@R) d) 1 (T®)

Who maintains records of investors in companies? (Fufi # faerat &1 Rafe &9 @dr 2?)

a) Stock exchanges b) Registrar and transfer agent
(SEACKER)! RRTER AR ZRHR Toie)
c) Brokers (sad) d) Sub brokers (&9 stHd)

Which of the following are an important source of information about companies for investors.? (Fr=ifeRRaa
H 9 A el & foflg Sufl & IR 7 SFeRT T Udh Agayol #1d 2 |)

a) Research reports (@rgdem Rurd) b) Advertisements (fa=mo=)

C) Market rumours (EIR 3r%arE) d) Market tips (@<= gfaem)

How many Greeks used for hedging portfolios of options with underlying assets? (fha= Jmfar = sfafsifza
gReufrt @ e fadsedt & urdwiferal 2R & forg SuanT famar?)

a) four (@R b) Six ®:)
c) three (&) d) five  (df)

What is the maximum brokerage that can be charged by an NSE trading member for a deal in government

securities for Rs 20 millon? RR&R # e A & foy vAees T A gRT 3if¥dan siavst fhaar art far
ST |/HAT 87 20 I W B Affi?)

a) Rs. 30,000 (% 30,000) b) Rs. 22,000 (¥ 22, 000)
C) Rs. 20,000 (% 20,000) d) Rs. 25,000 (% 25,000)

What does SP stand for? (g @ &1 @i aref 87)
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a) Securities Provider (@fcrfar waran) b) Secure Provision (gxfard graen)
c) Service Provider (¥ar ysrdn) d) Services of Post (de @ amg)

The pay-in and pay-out dates for the settlement calendar is declared (Fuer @efex & foy 9—34 iR U—amse
faftrt et @t 8 <)

a) by SEBI b) as per the Securities Contract
GEIRELRY) Regulation Act, 1957
@R oy & IgaR A M, 1957)
C) by NSDL d) by the respective stock exchange
(TTeEea g GEIEREERCEC AN

To operate in the derivative segment of NSE, the dealer/broker and sales persons are required to pass
......... examination. (TUwE & SRaAfeg Wi # M -1 & U SIeR /SR @R Ao T BT Urd 81 STes]

a) Certified Financial Analyst b) MBA (Finance)
(oo faxirg faeeryon) (Tadiy (foT))

c) NCFM d) Chartered Accountancy
(TTeiTeHEH) (@S rprScH)

In the case of index futures contracts, the daily settlement price is the E<a weRi digacd & Ao H, Sl
JcetHie ugd 7 )

a) closing price of futures contract b) opening price of futures contract
(R BiLaedT FllfoiT UIgH) (R Bide & AT UTga)

C) closing spot index value d) opening spot index value
(@i Wi ssad ae) (emUfsT wWie sS4 dey)

The minimum networth for clearing members of the derivatives clearing corporation/house shall be :
(sRafeq wmemem M /eR & AWl & FHRIEE )4 & oy Yaad fae Afera gnf)

a) Rs. 300 lakhs (% 300 &) b) Rs. 250 lakhs (% 250 o)
c) Rs. 500 lakhs (¥ 500 @) d) None of the above W & I B 7E))

The value of a call option ...... with a decrease in the sport price. (& oI H I & AT BidA fdbed BT

a) increases (@ b) does not change (gl sgeran)
C) decreases (erean) d) increases or decreases (ggar a1 Tedm 2)
Any person or persons acting in concert, who together own .............. or more of the open interest in

index derivatives are required to disclose the same to the clearing corporation. (@15 ¥ =afd a1 W w7
A IIFITT B ATl Afd, ST UH AT . I AF B Gol 2a & wiferd & ssad sRAfesd B [FeafRr SRR

BT THBT GATAT HAT AR 2 )

a) 35% (35 yfererd) b) 15% (15 gfem)
c) 5% (5 ufrer) d) 1% (1 wfeem)

Which risk estimation methodology is used for measuring initial margins for futures/options market?
Ok; (arreT / fawed IR & forg uRfe A1 &1 Araw & forg {5 SiRem orgae usfa &1 Suan far S &7)

a) value atrisk  (SiRew R Heu) b) Law of probability (@mRremdr &1 fam)
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c) Standard deviation (A& faae) d) None of these (& & ®Ig =E)

With the introduction of derivatives the underlying cash market witnesses: (SRdafea @1 g @& wrer
Jfafifed Tve INIR TTaTE:)

a) lower volumes b) sometimes higher, sometimes lower
(¥ dfegH) (@ aTaT, BT BH)

C) higher volumes d) volumes same as before
(SareT dicgH) (@A uge oiT 2)

An option which gives the holder the right to sell a stock at a specified price at some time in the future is

called a: (T fAdper S RS o1 wlawy # oy T90 v AT FHd R e 997 BT ARER <q7 &, 98 & U Bl
ST 2:)

a) Naked option (7 fawed) b) Call option (@fa )
C) Out-of-the-money option (arse—siih—a—a+1 fadeu)d) Put option (ge fa@me)

In the books of the buyer/holder of the option, the premium paid would be ........... to Equity Index
Option premium account or Equity Stock Option Premium Account, as the case may be: (fd®ea & @RITR /

RS B GRIDI ¥, YA fHar 71 N sfaact s & oy ... BT A WfFTs @rar a1 sidad! e
fpea WfFEs @rdr, S A Jm@ar )

a) debited (fac faar =) b) credited (fse fHar )
c) depends (FR @=ar ) d) None of these (E#H & ®Ig =)

Which of the following are the most liquid stocks? (FrfaRad # & &9 wa9 fdd R wid ©7)

a) All Infotech stocks b) Stocks listed/permitted to trade at the NSE
(T SHIcH Fidh) (TTTES # Eag AR B AR 1ol i)

c) Stocks in the Nifty index d) Stocks in the CNX Nifty Junior Index
(P s o <=f) GIGES)!

A January month Nifty futures contract will expire on the last.......... Of January. (U@ SHa<t W& &T

e wERt digae aRa ... I FHC BN | ST BT )

a) Monday (9™aR) b) Thursday (TwamR)

C) Tuesday (FeraR) d) Wednesday (geram)

SEBIl is: & &)

a) Regulatory Authority  (Frame urfereasvon) b) Statutory Authority (denfe grferas<or)

c) Both (a) and (b) @t T ik ) d) None of these (T & &1 =1E)

A stock broker means a member of : (<f® SIHR BT Adad & TGRE)

a) SEBI (&) b) any exchange (@15 gavFeion)
C) a recognized stock exchange d) any stock exchange
(Tdh AT i TaRTo) (1S Wl YaRTio)

The risk management activities and confirmation of trades through the trading system of NSE is carried
outby: (TATHE & ATIR YUl & HEd A SIRIH Yaed TR iR gSi @ gite &I SRl & | §RT A1)

a) users  (SUATTHAN) b) trading members (Ef$T \e)
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C) clearing members (fFeraRe wew) d) participants (@fcwr)

The F & O segment of NSE provides trading facilities for the following derivative instruments, except :
(TTEEE T UG Ue 3if WiHe fFrefeRaa sRafed swgied @ fog ¢ gfaend ye a=ar 2, R g9a:)

a) Individual warrant options (afdTa are fawed) b) Index based futures (Ssaa amenRa wy=)

C) Index based options d) individual stock options
(qEi AR fdded) (@fFTTa i fawm)

Verification and upload of client details has to be done on SEBI website every: (@€ & Jqa©€e R UAH
TTEH B IGO0 BT A AR IMIATS HAT BRI

a) One week (TP A<E) b) two week @ JarE)
c) 15 days (15 f&=) d) None of these (&7 & @1 =&l)

Who under Section 13 of the SEBI Act, 1992, may make grants to the SEBI? (¥t arfarfizm, 1992 @1 &RT 13
% T8 DI Il BT AGEM < Tl 87)

a) No grants are made to the SEBI b) The Central Government
(B BT PIS e e XA o 2) (@% WWHR)

c) The Reserve Bank of India d) Any one who desires
(RS Rord ) (@ W ST 9rEar ®)

As per the Securities Contract (Regulation) Rules, 1957 every recognized stock exchange has to submit

its annual report to : @R srgey (afaee) 99, 1957 & AR YIS AIT TG Fid Yaaaol bl Y Bl
BT 3@ affe Rard)

a) SAT  (vHud) b) Central Government (g WR&R)
c) State Government R TR&R) d) SEBI &)

Who can nominate members on the governing body of a recognized stock exchange? (fa=fi ar=rar ure
Wie gades & il e # Gexdl B B9 7FM B Fhdr 8°)

a) The SEBI (&) b) The State Government (<1 IR&R)
c) The SAT (o) d) None of these (EH & ®IE =)

NSE's Certification in Financial Markets (NCFM) is a necessary qualification for becoming a trading
member. (R<iT IoIRT § TATHE BT YA (THRITHUH) Th QYR 999 & {0 TP avdsd A9l & 9ed |)

a) Yes  (30) b) No (TEY)
c) Both (a) and (b) (@ T iR &) d) None of these (5T & @15 =TE))

Every listed company is required to submit to the stock exchange the shareholding pattern of the company
ona: (IAd HaE HU Bl FUAl B WRYIRAT Ue BT Wi Tadasl § SH BT ATID 2)

a) quarterly basis G#i® MR W) b) monthly basis (#e ER W)
c) yearly basis  (@ff& MR W) d) half yearly basis @EeEari® smmrR w)

Insurance companies and mutual funds both provides to customers. (1 &ul 3R R[gera ws IMT ATEHI
Bl UG B 2 )

a) Insurance policies only (@acr §rm diferRrar) b) ULIPs (gferm)
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C) Bonds (sre) d) Loans (W)

Which option gives the holder the right, but not the obligation to buy an asset by a certain date for a
certain price? (@19 &1 AFed aRE &I JWHR a1 2, Afd v FlRTd fy d& duly @des o1 afia 8 <ar
g1)

a) Put () b) IT™™  (emEeem)
C) OTM (3n<gm) d) Call (@)

Which option is an option that would lead to a zero cash flow to the holder if it were exercised
immediately? (@19 &1 fJed U faded € Sl gRS ®I Y THal JdT8 O AR of SN IS $HGHT TANT fHar S
g qRa?)

a) In the money (= #) b) Atthe money (&1 W)
C) Out of the money 1 % 9) d) Put (ge)

Which of the following options strategy is not a bullish strategy? (Fr=faRaa & & &4 A1 Awed oI Tw
TSl @ IofT A e 27)

a) Buying a futures contract on the stock b) Buying a call option

(Clh TR TR Plgde TRIG) CASECINERENEST)
c) Writing a put option d) Writing a call option

(ge St forgHr) (et ifer fora=m)
If the latest balance sheet of a company is not available within ........ month from the close of the year
unless the accounting year is changed, the shares of such companies have to be valued at zero. (afe fa<
HUAT DI TAATH doid e a9 B TG F o HEM & WId IUAS T8l © ofd dd fdb @l a¥ Fe1 d9&ell Irdm
2, Ul SufEl & IR HT e I B @I )
a) 3 (@) b) 6 (@)
c) 9 () d) 4 (=)

LBMA stands for: (Ter&igau a1 31 &)

a) London Bullion Members Association b) London Bond Market Association
(cfe= gfera wevy ¥H) (cied dfvs ATrhe THIRTTEM)

c) London Bond Members Association d) London Bullion Market Association
(cfee df~s Ae TAIRITY) (el gferae wrae TaERige)

TDS stands for: (@<Ewa &1 3ref 2)

a) Tax Deducted at Service b) Tax Deducted at Source
(e 9R B BN (s R BR BKe)
C) Tax Deposited at Source d) Tax Deposited at Service
(3N TR T ) (AT W ST HR)
Mutual funds need to calculate NAV for each calendar ......... for their liquid fund schemes and plans.

(RIFT HS B AUl ffdas B ARl AR ARl & fy IRe Heisy ... @ foTY QAYEl BT IO BRA B
gTIHAT BRI B )

a) day (=) b) week  (9TR)

c) month (®&) d) year  (dTdl)
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Application from investors are to be received by mutual funds only at the : (Faer! | e daa =ggara
®s gRI U fhy o &)

a) head office or branch offices of the mutual fund b) designated RTAs
(Tt B & T BRI AT AR HTITI) QUESESINCI]

c) official points of acceptance d) designated banks
(Wift @ smfaRe i) QUESECED)

RTA carries out the redemption processing at its end and provides final redemption information to the
exchange on : EMREIT U= 3id H A YHHIUT HRAT © 3IR i /g @ UeH &var 2 1)

a) T+2 @& +2) b) T+1 & +1)
C) T+3 @& +3) d) T+4 @& + 4)

STT stands for : (TAEIE @1 3l 2)

a) Securities Trading Tax b) Securities Transfer Tax
RreaRRe o 2aw) (RreriRerst grawr o)

C) Securities Transaction Tax d) Securities Takeover Tax
(RraaiRder grotaRr <aw) RraaRd cwaiar o)

Who have to compensate any loss occasioned to any investor or to the scheme and / or plan on account of
non-compliance by the fund? (&= f=f fFraere a1 Ao &R /AT AT BT gU JHAT BT ARUTS & HROT BRAAT
Bl ® I g1 rguTers 71 &_A1?)

a) RTAs (R b) Stock Exchanges (¥cf® )
C) Custodians (dve®) d) AMCs (guwil)

The investment management activity of a mutual fund is managed by the : (RIgsra we @ fer vae=
Tafafd fas grT yefa @ STl )

a) sponsors CIRISED) b) AMC  (ToeRi)
c) custodians GRGED) d) RTA (<)

Reducing the capital of a company is called: (& Hu @1 Yol BT HH AT FEAT ©2)

a) Internal Reconstruction b) External Reconstruction
(arraRes gef+HToT) CIENIGIEE )
c) Consolidation  (w¥®=) d) None of these (EH & ®IE =)

Which of the following is required for investing in mutual funds? (Rgsie ws # e & forg fr=iforRaa # &
T AARH 2?)

a) KYC (dbarss) b) Passport (aTATe)
c) Voters ID (@rex 3mgsn) d) Demat account (Sre wran)

Short-term deposits by mutual funds can only be placed with: (RIgsre wef §RT redrafe SHRI BT dact g9d
T @ 1 Ghdll ©)

a) Public Sector Banks b) Scheduled Banks
(IS &3 & db) CRGIERED)

C) Public Sector Banks or Cooperative Banks d) Cooperative Banks
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(@ &7 & 5 a1 wEer §9) (e d)

ETFsare ........ ended funds that can be bought at prices, which vary during the day and operate with low

tracking error. EEU% .. ¥ B & € HWAI IR @RS ST 96T 8, 51 39 & SRE = 811 € iR 3 &
T HATferd BT ® et @IoTT )

a) close (aire) b) open  (3TA)
c) both (a) and (b) @i T iRk &) d) None of these (& & ®13 2

Which of the following sets out concisely the information about the scheme that a prospective investor

ought to know before investing? (FmfoRaa # & @4 e dWifad fFaeres Ao @& IR # G SEeRT <ar 87
T = & Ugel uar B A1Ry?)

a) Scheme source document b) Scheme information book
RISEIEIGRCESIEN)) RSB CEIREESED)
C) Scheme document d) Scheme information document
CISRIIESSIERN)) CISEIRCRIBCESIC))
The merger of ....... And....... Was the first M and A activity after liberalization. (... BT fae | 3R ..... |
SERIGRY & 91§ Ugell TH 3R T wfafafer o )
a) Times Bank and HDFC Bank b) New Bank of India and PNB
(€rgr 4% 3R Taewdl d) (1 9% offts 3feam iR dome -emer )
C) ICICI and ICICI Bank d) GTB and Oriental Bank of Commerce
(STSINRMSHIRME IR MMSHIRMEHIRE Ja) (ST 3R MRAe d& 3if Biwd)
Which funds trade stocks infrequently? (@ ¥ %€ ¥RIRI &1 AUR IR—IR H 8?)
a) Passively managed (Ff$pa w9 & g&fera) b) Actively managed (@fora w9 & y&fera)
c) Both (a) and (b) @i T ik ) d) None of these (& | ®13 8

QFI Stands for : (Fuwas & forg e &)

a) Qualified Financial Investor b) Qualified Fund Investor
@ faxi faere) @ we fAded)

c) Qualified Foreign Investor d) Qualified Foreign Individual
@ fageh fMder) @y fageh aafaq)

PIO stands for: (famsair &1 a1ef 7))

a) Persons of Indian Origin b) Persons of International Origin
(TR A @ fad) (GRS g & =)

C) Persons of Indian Organisation d) Persons of International Organisation
(TR TS & Afda) CieRTsERT e & <afd)

Since, Investors can diversify away their.......... Risks, they have to be compensated only for ...............

risk. (@& faere s DI SIARTHE PR Fdhd & | SIRGH, IT DA ... % forg garasT faar ST 8 ST )

a) systematic, non-systematic b) non-systematic, systematic
(@aRerd, IR—aferq) (R—cgafkerd, =rafera)

c) Both (a) and (b)" (@FT T 3R <) d) None of the above (ETH & 315 7E))
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QF1 is defined to mean a person (not resident in India), who is resident in a county that is compliant with
which standards? (RUweTE &1 e V& afdd (WRA # Fari 72) & w9 # gRifya f&ar = 2 S va Fed #
R 8 ST SIgure aRal @ B | AFD?)

a) Financial Task Force b) Financial Action Audit Force
(ERIRECINEE) (Rrfrr praTe orar wem ae)

C) Financial Action Enforcement Force d) Financial Action Task Force
(o< Rarg gad= 9a) (fo<hg sRarg a1t 9a)

Which is the comprehensive measure of a country's overall economic out put? (& & F# 3mfdfe Iare
BT AYH SURT B AT 27)

a) GDP (i) b) ADP  (T<mh)
c) MDP  (gesid) d) LDP @<
FDI stands for: (Twelams &1 31 &)

a) Foreign Derived Income b) Foreign Direct Investment
(o=l goa=1 am) (e faceh fyae)

c) Foreign Derivatives Investment d) Foreign Disposable Investment
(el SRafea o) (foceh fewdorga e

The financial market for securities with maturities of less than one year is known as: @& a9 & &4 @I
aRugadr arell uferferal & forg faeig aoiR & 9 # ST ST 2)

a) Derivatives market (sRafea aoiR) b) Cash Market (g 9IR)
c) Money market (g=1 aToIR) d) Rupee Market (w931 99TR)

MM approach is similar to : (gAEw gfesmor G9E )

a) net operating income approach b) traditional approach
(Is aRETE I gfteaion) (@RURe® gfteanon)
c) Both (a) and (b) (EHT T 3R ) X d) None of these (¥ & @15 2
Financial managementisa___ process. (fO=T yeerd U ... gfshar 2 1)
a) dynamic (wrfcreirer) b) rigid (@eR)
c) continuous (FRaR) d) discontinuous  (sregferd)

What is ignored in profit maximization? (a1 sifwaamRer 3 faa! Iuem & Sl 2?)
a) Wealth (&) b) Net value F><€ o)
c) Time value of money (11 &1 w931 =) d) None of the above EWRE # & @15 72)

Which of the following are micro-economic variables that help to define and explain the discipline of
finances? (FrafaRad # | &9 I Yeoi—aNffed =R & ST & SIRMAT BT URMINT B 3R T H A& B ©
faer?)

a) Risk and return (GRaw iR arosd)) b) Inflation CERAIS)
C) Capital structure (4sit |==r) d) All of these @ w4

Management of all matters related to an organisation's finance is called: (v& e & fag & ddfra ot
A & YT BT dHal S )
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a) cash inflows and outflows b) allocation of resources
(FHL yarg IR afzats) (FATEAT BT @mrden)

c) financial management (=i v&erm) d) finance (fa=)

Which of the following is not an element of financial management? (Fr=faRaa % & @19 =i ydes &1 &
T &l 87)

a) Allocation of resources b) Financial decision-making
(FHTEAT BT rde) (o= frotar o)

c) Financial planning d) Financial control
(fotra rst=) (foira for=i=on)

The most important goal of financial management is : (fa<f deH &1 Fa9 Aol @& & )

a) profit maximization b) matching income and expenditure
QGRS IR EERE)) (@M 3R =g BT A H)

c) using business assets effectively d) health maximization
(@TaaTie FaRkrl &7 Y9I G | SUATT BRAT) (TR B THBRO)

Concepts of present value and future value are: (aAM Jea iR wfa® & Jo @ FEURMTY &)

a) directly related to each other b) not related to each other
(N Th SR W Hafera) (T A 9 HeRT T8l B)
c) proportionately related to each other d) inversely related to each other

UF TR A AUITS T | Hefa) P R ¥ i v ¥ H&fda)




